>

Cent.Vol (um3)

(v

Cent.TMC (mgHA)
28 &
27
= = .
22 P E .
g g
52! =
o o
2 . 2 .
T T T T 1 T T T T 1
35 4.0 4.5 5.0 5.5 35 4.0 45 5.0 5.5
log,(Standard Length (mm)) log,(Standard Length (mm))
E Haem.Vol (um3) F Haem.TMC (mgHA)
29 8
28
& o
g K B
22 EX .
@ o
L 2 % )
2
2
T T T T 1 T T T T 1
35 4.0 45 5.0 55 35 4.0 45 5.0 55
log,(Standard Length (mm)) log,(Standard Length (mm))
H Neur.Vol (um?) I Neur.TMC (mgHA)
2 4
2 3
— o —_
T 2 B oo,
2 2 2 .
S / g
3 1
9 22 . g
21 o
.
.
T T T T 1 -1 T T T 1
35 4.0 4.5 5.0 5.5 35 4.0 45 5.0 55

log,(Standard Length (mm))

log,(Standard Length (mm))

Cent.Th (um) D Cent.Le (um)
7. 10.0-
9.5
g 70 B o o
2 - 3
s f.//:' $ 90 <
o w
8o d g
8.5 .
6.0 T T T 1 8.0 T T T 1
35 4.0 45 5.0 5.5 35 4.0 45 5.0 55
log,(Standard Length (mm)) log,(Standard Length (mm))
G Haem.Th (pm)
7.0
D 6.5
2
£
o
2 6.0
5.5+ T T T 1
35 4.0 45 5.0 55
log,(Standard Length (mm))
J Neur.Th (um)
7.0
T 6.
.
i -
o
= .
9 6.0 P .
5.5 T T T 1
3.5 4.0 45 5.0 5.5

log,(Standard Length (mm))



